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Q.1 Jolly Ltd. manufactures and sells 60,000 units (at 60% capacity) at a [15]
selling price of Rs.32 per unit. Its cost of sales per unit is as follows:-

Q.1

Direct Materials Rs.10
Direct Wages Rs. 3.30
Works Overheads (50% Fixed) Rs. 10

Selling Overheads (25% Variable) ~ Rs. 0.80

During the current year the company intends to produce the same
number of units, but anticipates an increase of 10% in fixed costs.
While the rates of direct wages and direct materials will increase by

33-I
3

% and 6% respectively. There is no scope for increasing the

selling price because of stiff competition in the market. Under this
situation it receives an offer from Dolly Ltd., to buy a further 20%
capacity for its promo scheme.

You are required to find out the minimum price that should be
quoted to Dolly Ltd. to ensure that it earns an overall profit of
Rs.4,54,500.

OR

Jagruti Ltd's normal plant capacity is 3,00,000 units per year and [15]
current production is 2,00,000 units. There is no alternative use for

the idle facilities. The company receives an offer from a foreign
customer to buy 1,00,000 units at Rs.14 per unit. The current
manufacturing and selling cost per unit is as follows:

(1

Particulars Per Unit
Rs.
Direct Materials 3
Direct Labour 2
Variable Overheads:
Manufacturing 2
Selling 1
Fixed Overheads:
Manufacturing 2.5 \
Selling 0.5

Should the offer be accepted assuming that shipment charges
of Rs.50,000 are to be borne by the seller? There will be a




Q.2

Q.2

Q.3

Q.3

Q.4

Q.4

(2)

packing of the products which involve packing cost of Rs.0.25
per unit. Being an export order, the management is convinced
of the fact that the regular market price of Rs.14 per unit will not
be affected.

Assume that the order is from a local supplier and therefore,
should the order be accepted? All productions in future are to
be offered at the special order price i.e. Rs.10. Assume that the
shipment charges and packing charges are only for export
order.

What do you understand by Just In Time? Explain the characteristics
and objectives of Just In Time (JIT).

OR

(a) Discuss the impact of Just In Time on Management Accounting.

(b)

Explain the benefits of Just In Time.

Define Value Analysis. Explain the different types of value and
describe the procedure of value analysis.

OR
Explain the techniques of value analysis.
Discuss the advantages of value analysis.

Explain the scope of Environmental Accounting.
Discuss the utility of Environmental Accounting.

OR
Explain the meaning and objectives of Transfer Pricing.
Discuss the methods of Transfer Pricing.
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